
	
  

Products	
  Licensed	
  to	
  N-­‐FAB	
  Inc.	
  by	
  Fichter	
  Designs	
  are	
  protected	
  by	
  US	
  Patent	
  Law	
  and	
  International	
  Copy	
  
Right	
  Law.	
  Protected	
  Patents	
  include	
  US	
  Patent	
  #6588783,	
  #6874801,	
  #7416202.	
  Other	
  patents	
  and	
  

continuances	
  pending.	
  N-­‐FAB	
  product	
  configurations	
  also	
  protected	
  by	
  International	
  Trade	
  Dress	
  Law.	
  All	
  
Designs	
  and	
  Patent	
  infringements	
  will	
  be	
  prosecuted	
  to	
  the	
  full	
  extent	
  of	
  the	
  law.	
  	
  

	
  
	
  

For	
  Technical	
  Support,	
  Please	
  Call	
  281-­‐880-­‐6322	
  
N-­‐FAB	
  Inc.,	
  12302	
  Shiloh	
  Church	
  Rd.,	
  Houston,	
  TX	
  77066	
  

INSTALLATION INSTRUCTIONS
 Light Bar / Pre-Runner

2014 to current Toyota Tundra 

Passenger 
Side

Driver side

Loosen the 3 outside nuts that hold bumper to frame, 
loosen enough to slide on mounting brackets..

Slide brackets onto bumper mounting studs and hand 
tighten nuts to allow for centering of bar.
Passenger  and  Driver  side  brackets  are  specific.

(Figure 1) Cut plastic horizontal bar out of lower grill that 
is in front of bracket.

Pre-Runner only, remove inner bumper nut, position 
stiffener bracket on stud, reinstall factory nut and hand 
tighten, bolt through stiffener hole on back of main 
bracket using supplied hardware, hand tighten only.

Using supplied hardware, bolt light bar or Pre-Runner to 
brackets.

Hand tighten all fasteners

Center light bar and tighten all hardware

Installation is complete.

Brackets 

  (figure  1)  Where  to  cut  lower  grill

Hardware Kit
(4) 3/8” x 1” bolts
(8) 3/8” washers
(4) 3/8” lock washers
(4) 3/8” nuts

PART#  T144LB, T1430LD, T143LH

Cut this bar, bracket will 
line up behind it

Parts included
1- Driver L Bracket
1- Passenger L Bracket

T143LH (additional)
2 - stiffener brackets

CAREFULLY READ EACH STEP BEFORE ATTEMPTING INSTALLATION

For  Technical  Support/Warranty  Information  Please  Call  281-­880-­6322

N-­FAB  Inc.,  14925  Stuebner  Airline  Rd.  Ste.  207,  Houston,  TX  77069

Stiffener hole

(2) 3/8” x 1” bolts
(2) 3/8” washers
(2) 3/8” lock washers
(2) 3/8” nuts

Main Bracket

Installation	
  Instructions	
  
Light	
  Bar	
  /	
  Pre-­‐Runner	
  	
  
2014+	
  Toyota	
  Tundra	
  

Models:	
  T144LB,	
  T1430LD,	
  
T143LH	
  


